

# OFFICE OF THE PRINCIPAL NALBARI COLLEGE

NALBARI (ASSAM)
Accredited "B" Grade by NAAC

Web site: www.nalbaricollege.org E-mail: nalbaricollege1945@gmail.com Phone No.: +91 94353 10880

Ref.:

Date: 8/12

## NOTICE

All students of Nalbari College are hereby informed that the following procedures may be followed by students who have any exam related grievance.

### **External Examination:**

- For any grievance related to end semester examinations conducted by Gauhati University, the student may approach the College Grievance Redressal Cell or the Vice-Principal of the College, who is also the Convenor of Examination committee.
- 2. Students may alternately approach either Manoj Kr Das (Head Assistant i/c) and Mantu Das (Junior Assistant), for getting their applications forwarded by the Principal.

#### **Internal Examination/Assessment:**

1. For all issues and grievances related to Internal Assessment, the respective Head of the Department is the Nodal Authority while the Vice-Principal is the Appellate authority.



(Dr. Kamal Nayan Patowary) Principal Nalbari College, Nalbari

> Principal Nalbari College, Nalbari Nalbari : Assam

-70

Date: - 15-02-2020

The controller of examination quadrati University

Sub: Application for withheld result

Respected Sir,

with due respect. I beg to state you that I appeared for the 5th seon find exam in 2019 but I got back in a paper, when I mappear for the exam after the declaration of result it is withheld.

you to look into the matter and give me a honest result as soon as possible.

enteranded de Hieraedhul

Este Nidol Geraedhul

Este Nidol Niesel

Your's obedientry
Bishal Kashyap
Roll No:- US1711940036
Malbasi College





B.SC (MAJOR) FIFTH SEMESTER EXAMINATION - 2019



# **GRADE SHEET**

(ABSOLUTE GRADING)

Date: 30-05-2020

The following are the marks/Grades obtained by

BISHAL KASHYAP

Roll No. US1711940034

Of NALBARI COLLEGE

at the B.SC (MAJOR) 5th SEMESTER EXAM 2019						held in	DECEMBE	MBER, 2019	
SUBJECT(S	) OFFERED	TOTAL MARKS	MARKS OBTAINED EXT+INT	PERCENTAGE OF MARKS	PAPER CREDIT	GRADE OBTAINED	GRADE POINT OBTAINED	HONOUF	
MAJOR:									
STATISTICS - STS M 5.1		75	20+4F	32.00	6	F	0.0	0.00	
STATISTICS - STS M 5.2		75	13F+5	24.00	6	F	0.0	0.00	
STATISTICS - STS M 5.3		75	30+3F	44.00	6	F	0.0	0.00	
STATISTICS - STS M 5.4		75	39+13	69.00	6	B+	7.0	42.00	
STATISTICS - STS M 5.5	(P)	75	59	79.00	8	A	8.0	64.00	
STATISTICS - STS M 5.6	(P)	75	62	83.00	8	A+	9.0	72.00	
	TOTAL: SGPA:				40		And the state of t	178	
			рожения от применения от п				Control Contro	eren and and and and and and and and and an	
								merinana ya Yaka kata ingana kata kata kata kata kata kata kata k	

RESULT -->

**BACK** 

Sd /-Controller / Dy Controller of Examination



B.SC (MAJOR) FIFTH SEMESTER EXAMINATION - 2020

**GRADE SHEET** (ABSOLUTE GRADING)

Date: 07-10-2021

The following are the marks/Grades obtained by

BISHAL KASHYAP

Roll No. US1711940034 (\*Arrear)

Of NALBARI COLLEGE

at the

B.SC (MAJOR) 5th SEMESTER EXAM. - 2020

held in

JUNE, 2021

SUBJECT(S) OFFERED	TOTAL MARKS	MARKS OBTAINED EXT+INT	PERCENTAGE OF MARKS	PAPER CREDIT	GRADE OBTAINED	GRADE POINT OBTAINED	HONOU POINT
MAJOR:							
STATISTICS - STS M 5.2	75	49+5	72.00	6	А	8.0	48.00
	200	Parameter services and services are services and services are services and services and services and services are services are services are services are services					
MAJOR TOTAL:		Popularina	Name of the last o	6		MODO	48
SGPA :						90000000000000000000000000000000000000	
	- Control of the Cont						140
	WWW.commonwey						17.5%

RESULT --> BACK

Sd /-Controller / Dy Controller of Examination



B.SC (MAJOR) FIFTH SEMESTER EXAMINATION - 2020

# **GRADE SHEET**

(ABSOLUTE GRADING)

Date: 07-10-2021

The following are the marks/Grades obtained by

BISHAL KASHYAP

Roll No. US1711940034 (\*Arrear)

Of NALBARI COLLEGE

at the

B.SC (MAJOR) 5th SEMESTER EXAM. - 2020

held in

JUNE, 2021

TOTAL	MARKS OBTAINED EXT+INT	OF MARKS	PAPER CREDIT	GRADE OBTAINED	GRADE POINT OBTAINED	HONOUF POINT
75	20+9	39.00	6	Р	4.0	24.00
75	49+5	72.00	6	A	8.0	48.00
75	30+10	53.00	6	В	6.0	36.00
			18		To Commonweal and an annual and a state of the state of t	108 7.15
valencián (vieta con recursos contratos con recursos contratos con recursos contratos con recursos contratos con recursos con recursos contratos con recursos con recursos contratos contratos con recursos contratos contratos con recursos con recursos contratos con recursos con recursos contratos con recursos con recursos contratos con recursos con recursos contratos con recursos contratos con recursos con recursos contratos con recursos con recurso con recurso con recursos con recurso con recurso con recurso con recurso con recurso	vonancia no independenti indepe				de management, companyation and property and	
	75 75	MARKS OBTAINED EXT+INT  75 20+9  75 49+5	MARKS         OBTAINED EXT+INT         OF MARKS           75         20+9         39.00           75         49+5         72.00	MARKS         OBTAINED EXT+INT         OF MARKS         CREDIT           75         20+9         39.00         6           75         49+5         72.00         6           75         30+10         53.00         6	MARKS         OBTAINED EXT+INT         OF MARKS         CREDIT         OBTAINED           75         20+9         39.00         6         P           75         49+5         72.00         6         A           75         30+10         53.00         6         B	MARKS         OBTAINED EXT+INT         OF MARKS         CREDIT         OBTAINED         POINT OBTAINED           75         20+9         39.00         6         P         4.0           75         49+5         72.00         6         A         8.0           75         30+10         53.00         6         B         6.0

RESULT -->

PASS

Sd/-

Controller / Dy Controller of Examination

No, the Controller of Resonantion Junihali University

Dake! 17/12/2021

Sub: Application for updation of internal mark,

Respected Sir,

With due ruspect, I beg to state you that I should appeared for the internal examination of Major 3,2 of Statistics of Sad Semester (orrear) 2021 and tear department of Statistics of Nabbari College updated the internal mark. But unfortunately, it is not updated in bry new marksheet for which I couldn't get the sixth sementer marksheet.

And therefore, I trequest you to kindly update the internal many on that baker.

Anadorded de Henrodland

Yours Enishyo

Roll No. 1 US-181-194-0400

Rigd, Na: 18074070

cans Sub: Satalistics (Major)

Paper: 3.2

Morks Obtained: 09

To,
The Controller of Examination
Gauhati University
Guwahati
(Through the Principal of Nalbari College, Nalbari)

Date: 17/12/2021

Sir,

I have the honour to inform you that, Rantu Baishya, a non CBCS B.Sc. (STATISTICS, Major) student of Nalbari College is known to me. He has given Sessional Examination (Arrear) of B.Sc. 3rd semester STATISTICS (Major), Paper 3.2, theory in 2021 and accordingly he obtained marks 9. This is for your information and necessary action.

Name of the Student: Rantu Baishya GU Roll No.: US-181-194-0160

Registration No.: 18074070 Subject: STATISTICS (Major)

Paper: 3.2

Semester: B.Sc. 3rd Semester

Marks Obtained: Paper 3.2: 09(Nine)

Dr. Bhupen Kr. Nath HoD., Dept. of STATISTICS Nalbari College, Nalbari

Long the dod do the place of the NALBARI (ASOM) IN PRINCIPAL MALBARI (ASOM) PRINCIPAL MALBARI PARTICIPAL PARTICIPAL MALBARI PARTICIPAL PA





B.SC (MAJOR) THIRD SEMESTER EXAMINATION - 2019

### **GRADE SHEET**

(ABSOLUTE GRADING)

Date: 18-05-2020

The following are the marks/Grades obtained by

RANTU BAISHYA

Roll No. US-181-194-0160

Of NALBARI COLLEGE

B.SC (MAJOR) 3rd SEMESTER EXAM. - 2019

held in

NOVEMBER, 2019

B.SC (WASON) SIG CEMESTER !	.,						
SUBJECT(S) OFFERED	TOTAL MARKS	MARKS OBTAINED EXT+INT	PERCENTAGE OF MARKS	PAPER CREDIT	GRADE OBTAINED	GRADE POINT . OBTAINED	HONOUI
MAJOR:							
STATISTICS - STS 3.3	50	42	84.00	4	A+	9.0	36.00
STATISTICS - STS M - 3.1	75	33+15	64.00	6	B+	7.0	42.00
STATISTICS - STS M - 3.2	75	6F+1F	9.00	6	F	0.0	0.00
MAJOR TOTAL : SGPA :	on the second contract of the second contract			16			78
GENERAL:	100				Anna Anna Anna Anna Anna Anna Anna Anna		000000000000000000000000000000000000000
MATHEMATICS - MAT 3 PHYSICS - PHY 3	100 50	42+20 13+9	62.00 44.00	8	B+ C	7.0 5.0	56.00
PHYSICS - PHY 3-P	50	38	76.00	4	A	8.0	20.00 32.00
GENERAL TOTAL : SGPA :				16		Control of the Contro	108 6.75
ENVIRONMENTAL STUDIES - EVS	50	25+7	64.00	4	B+	7.0	Note that the state of the stat
	1	1	1	8	E I	*	1

RESULT -->

BACK

Sd/-

Controller / Dy Controller of Examination



B.SC (MAJOR) THIRD SEMESTER EXAMINATION - 2021

# **GRADE SHEET**

(ABSOLUTE GRADING)

Date: 14-12-2021

The following are the marks/Grades obtained by

RANTU BAISHYA

Roll No. US-181-194-0160 (\*Arrear) Of NALBARI COLLEGE

B.SC (MAJOR) 3rd SEMESTER EXAM. - 2021

held in

JUNE, 2021

SUBJECT(S) OFFERED	TOTAL	MARKS OBTAINED EXT+INT	PERCENTAGE OF MARKS	PAPER CREDIT	GRADE OBTAINED	GRADE POINT OBTAINED	HONOUF POINT
MAJOR: STATISTICS - STS M - 3.2	75	29+5	45.00	6	С	5.0	30.00
MAJOR TOTAL : SGPA :				6			30 6.75
					2		

RESULT -->

**PASS** 

Sd/-

Controller / Dy Controller of Examination

Jhe Examination controller, Guwahati.

University.

Jhrough the principal, Nolbari college,

Nollbari.

Sub i Application for seeking correction

and absence of marks in chemistry

Of B.Se 4th sem, Regular marksheit.

With due to respect I beg to state that I am a regular student of BSC oth sem mamed Josmin Sultema, neading under your university is nespectfully writing this letter to inform you regarding writing this letter to inform you regarding the anomalles in the results of my B.Se 4th sem examination that is need to be corrected she examination that is need to be corrected. It is written as "arrecar " due to absence. In the sessional examination.

To my knowledge the result mentioned on the marksheet is incorrect, and I request you to kindly get it corrected. I shall be highly obliged.

Should be highle by all be highle by all be highle by all by all by all by all by all by all by the by all by the by the

Jour Baithfully Jesmin Sultana Regular Student Noulbarri College. 60 ROU NO: US-201-194-0181





B.SC (REGULAR) CBCS FOURTH SEMESTER EXAMINATION, 2022

# **GRADE SHEET**

13-02-2023

The following are the Grades obtained by

JESMIN SULTANA

Roll No. US-201-194-0181

Of NALBARI COLLEGE

at the B.SC (REGULAR) CBCS FOURTH SEMESTER

held in

April 2022

PAPERS OFFERED		PC	LG (Letter Grade)	GP (Grade Point)	CP (Credit Point		
CHE-RC-4016 Solution ,Phase Equilibrium, Conductance Chemistry & Functional Group Organic Chemistry	e,Electro	6	С	5	30		
BOT-RC-4016 Plant Anatomy and Embryology			Р	4	24		
ZOO-RC-4016 Genetics and Evolutionary Biology			С	5	30		
ZOO-SE-4044 Apiculture	-4-1.75	4	В	6	24		
	TOTAL	22			108		
SGPA RESULT			4.91				
			PASS				

Sd/-Controller of Examination

TM=TotalMarks.MO=MarksObtained.PC= PaperCredits,GO=GradeObtained,GP=GradePoints,HP= HonourPoints

Note Since this is a system generated Gradesheet, signature is not required. The Gradesheet may be verified in the website www.guportal.in.

> Principal
> Nalbari College, Nalbari Nalbari : Assam







B.SC (REGULAR) CBCS FOURTH SEMESTER EXAMINATION, 2022

# **GRADE SHEET**

Date: 13-02-2023

The following are the Grades obtained by

JESMIN SULTANA

Roll No. US-201-194-0181

NALBARI COLLEGE

at the B.SC (REGULAR) CBCS FOURTH SEMESTER

PAPERS OFFERED			LG (Letter Grade)	GP (Grade Point)	CP (Credit Point			
CHE-RC-4016 Solution ,Phase Equilibrium, Conductance,Electro Chemistry & Functional Group Organic Chemistry  BOT-RC-4016 Plant Anatomy and Embryology			AB	-	-			
			Р	4	24			
ZOO-RC-4016 Genetics and Evolutionary Biology		6	С	5	30			
ZOO-SE-4044 Apiculture		4	В	6	24			
	TOTAL	22			78			
SGPA								
	RESULT		1	ARREAR	Land Street			

Sd/-Controller of Examination

TM=TotalMarks,MO=MarksObtained,PC= PaperCredits,GO=GradeObtained,GP=GradePoints,HP= HonourPoints

Note: Since this is a system generated Gradesheet, signature is not required. The Gradesheet may be verified in the website www.guportal.in.

> Principal Nalbari College, Nalbari Nalbari : Assam